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Example 14

« For the following network, determine:
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(f) Repeat parts (b) through (e) with= 20 kQ and
compare results.
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(@ DC: Iz= Yec— Toe
’ Rp+ BRe

-~ 12V-07V
T (120 KQ + 68 kQ) + (140)3 kO
11.3V
= oskq C 1SoeA
Iy = (B + DIz = (141)(18.6,14)
=2.62mA
= 26mV _ 26 mV
€ Iz 2.62 mA

=9920
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(b) Br, = (140)(9.92 Q) = 139 kQ
The ac equivalent network appears in Fig.
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(c) Testing the condition 7, = 10R¢. we find
30 kQ = 10(3 k) = 30 kO
which is satisfied through the equals sign in the condition. Therefore.

Zo = Rd|Rr, = 3 k68 kQ
—287KQ
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(d) 7, = 10R. therefore.

fyen _RelRe _ sskof3 k0
=T 99201
_ 287K0
T onn
= —289.3

(e) Since the condition Rr, => Br, is satisfied.

B 140 140 140
Apes Re _1+ 3 kO T1+014 114
7JRes 30 kQJ[68 kO
=1228
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« For the following network, determine:
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(@) Z = Rl = 330 kQ1.175 kO
=, = L17T1 kQ
1 1

(b) Vo= E = 720 f.LA.“"V =350kQ
2, = ;- Re = 50 KOJ2.7 kO = 256 kQ = Re
 hRUh | (12027 KQ[S0KD)
(@) av=—ESCETee - NG = 2623

(d) Ar=hp=120




